2017 £ 8 A10 H

$id E20TEW

._I;
=



EHRTIE

EX n REWRA AX) =D 1 pax = ap+ ax+ ax + ...+ a,x"
a BN SRR EEE
REANRRSIANFERE BRBEART

$id E20TEW

=
=



ZHAHEREZE

L A B AFN n XRETR
s (AL B)(x) = A(x) = B(x) = Y1, (ai £ b)X
FEik: (AxB)(x) =YL, Z},:o ajbx*J

$id LR B



ZIH RERTE

EIE
EAERLE n MEEFARRN R, WEANE 11 01 XETK
213X n T

$id LR BT



ZIH RERTE

EIE
EAERLE n MEEFARRN R, WEANE 11 01 XETK
213X n T

FRABT Z—HRTEMANA % ASTKELE n-1 EH
PIRRT

$id LR BT



RERTESRYERTENEIR

o AHFTE> RERTIE:
BEEEX n+1 N ARERBIEAERIRR I E

$id LR BT



RERTESRYERTENEIR

o AHFTE> RERTIE:

BEEEX n+1 N ARERBIEAERIRR I E
o RIEFRTIE> RURTE:

R AE{E

FREZRAKBEEELZ FOHSNA

$id LR BT



RERTETHERIE

IRIEERT ARIERERA X0, X1, Xy
L RFEERE

$id LR BT



RERTETHEREE

IRIEERT ARIERERA X0, X1, Xy
L RFEERE
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tip: AIAEZEL Q(f) 2KF n B9 m REH

R Q(f.0x),Q(f.1.x),....Q(f,m.x)

SRIETRERIFTR EH Q(f.nx)
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X 4+ x 4+ x° = T

x1+x3+x5+.4.:1:;2

) 4 8 _ 1

x4+ X7 4+ X +...7ijf

X ot 52 457 = =X
2

X0 4 X 1—x

H

x+x+x+

,h\%ﬁ—lﬁ’%iﬁlﬁﬁ X



IS8 [BZ0J3028] &4

Xe: By X x4 = Ly

1—x
WE 0AE 14 B
R 04, 1A4E 24 O g2 = 122
Ehk: FHA AP+ L= lsz
W 4 WEHA O = g
a8F: 04, 14, 24834 x0+x1+x2+x3:11;xj
8 FEE—1 Ot = 12
EE: 3 WEEA OB = Ay

B THRER, BES—HRMNE
 RBERES n MOFEY
ENETEKLZFET
EERBAEROREH

i Y AR EETE ¢ RHE (")

$id LR BT



& R E S 3R AR R AT

RN ABREI A
fo=1H=1fH=2f=31f=5,.
1% f REMREREA F(x)

$id E20TE:W

._I;
=



& R E S 3R AR R AT

R ABLRET A f
fh=1,A=1,K=2,f=3f=5,..
% f EREECA F(x)

B A f,=fo1+ o

FrL F(x) = xF(x) + x¥*F(x) + 1
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R ABLRET A f
fh=1,A=1,K=2,f=3f=5,..
% f EREECA F(x)

B A f,=fo1+ o

FrL F(x) = xF(x) + x¥*F(x) + 1
A

F(x) =1+ x+2x + 35 + 5x* + ...

xF(x) + X F(x) + 1
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